Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering Semester —VI Examination Dec. - 2011

Subject code: 365402 Date: 07/12/2011
Subject Name: Financial Accounting-V

Time: 02.30 pm — 05.00 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered Authentic.

Q.1 Balance sheets of National Ltd. as on 31/12/2009 and 31/12/2010 are as 14
under:-

ASSETS: 31/12/2009 31/12/2010
Land & Building 2,40,000 4,20,000
Investments 18,000 15,000
Stock 65,000 1,68,000
Debtors 1.37.000 92.000
Bank Balance 1,85,000 1,20,000
Total 6,45,000 8,15,000
LIABILITIES:
Share Capital 2,50,000 3,00,000
Reserve & Surplus 1,20,000 2,50,000
Secured Loan 75,000 --NIL---
Creditors 1,75,000 1,90,000
Provision for Taxation 25,000 75,000
Total 6,45,000 8,15,000

Additional information:-
(1) During the year dividend was paid Rs.45,000/-.
(2) On 31/12/2010 the provision made for depreciation was Rs.30,000/-.
(3) During the year Investment of Rs.6000/- was sold for Rs.7,000/-
From the above information prepare working capital statement and fund
flow statement.

Q.2

(a) In a company share capital is made of 5000 equity share consist of 07
Rs100/-each and Rs.80 is paid up per share. Profit and loss account shows
credit balance of Rs.1,00,000/-. On 31/12/2010 company has decided to
reduce share capital and return Rs.30/- per share for which necessary
amount has been taken from profit and loss account.

Write journal entries for the above scheme.

(b) A company has issued 2000 equity share each of Rs100/- and Rs.75 per 07
share is paid up per share. Calculate liability of sharecholders in following
circumstance of liquidation:-

(1) If outstanding creditors(unsecured) is Rs.40,000/-
(2) If outstanding creditors(unsecured)is Rs.50,000/- and
(3) If outstanding creditors(unsecured) is Rs.75,000/-
OR
(b) State circumstance and procedure for voluntary winding up of company. 07
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Explain Methods of reducing share capital
Discuss factors affecting valuation of goodwill
OR
From the following information calculate value of the goodwill of a firm
on the basis of 5 years super profit purchase:
Average annual profit Rs.90,000
(2) Average capital employed in business Rs.4,00,000
(3) Expected rate of return 14%.
Discuss methods of valuation of shares

Paid up capital of a company is Rs.5,00,000 which consist of 5,000 equity
share each of Rs100/-. Profit after tax of the company is estimated
Rs.1,00,000/-. Expected rate of return in such a business is 10%.
Calculate market value of the share.

Explain the concept of ‘True and Fair View’

OR

Explain meaning and importance of an audit report.

Distinguish between clean and qualified audit report

State the liabilities of a company auditor

Discuss legal decisions in case of Kingstone cotton mills co Ltd.

OR

State liability of an auditor to third party

Discuss legal decisions in case of London oil storage co Ltd. V/S Seers
Hasluck & Co.
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AURerell AR uat Yol cteeldlA waudl.

csot AUSA R SUsll LA 2R sucs Aos sUolloll slofoll
Ysleloll AUl 5.
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